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1. An object that is ini_ﬂclly traveling af rl"' (fi'\ =AYV = 1a~-T = 15 = ¢ 02 mlS"z
i ¢ velocity of +7.0 m/s g f?elergfes to -E-_E -—-‘-— 3

. a velocity of +22.0m/s'ih a time of |
Atr 1.7 s. Caleulate the acceleration of

the object. & 3 =, -2 .
; . omazve 9 OAZAV = 12-0 - 353 mjg2
2. An object accelerates from rest' o G | de At

velocity of 120 m/s in 3.40s. 5.4

Calculate the ddceleration offthe !

object. o ! 219
[ FRYE e hiad o — s--.o - Ll T
3. An object accelerates from réat 1o G i6°‘ A=V = | ) mMis

velocity of +15 m/s in 4.7 s. What is | Ak 1.3

the object's cﬁfféroge occele&o‘rion? ‘ - \ 9x g = q.45 ml S
4. An object accelerates at 1.9 m/S for | 4. AN"= O~ At = 1 ’

At 505 What is the object’s change in
velocity2 s A

5. Find the acceleration that causes a 5, (}': :A\'} - Ab->2 A & m! 2
car's velocity to change from 32 m/s AL _6_- —_— =
to 96 m/sin an 8.0 s period. o)

6. A supersonic jet can accelerate at a
rate of 231 m/s2.  If the jet S _ . T
aceelerates for 200 s, what wil its |0+ AV AL =22.1x20= 462 m|s

change in velocity be?

7. A car accelerates for 6.8 s at a rate N - - = 10. %8
of 1.6 m/s2. What is the change in FAV=AAL= L X6, B e m|s

velocity for the car?

8. From the moment a 40_\6‘m/s fastball 8 nE {3’/ - MO MO
touches the catcher’s mitt unil it is © - T — = —_—
completely stofpe8 tekes 0.012 $3e t o.02 O.0lL
Calculate the average acceleration
of the ball as it is being caught. &

o>

= 3323, 33 m|g

&>

9. Top-fuel drag racers are able fo .
accelerate at 12.5 m/s? from rest fo |4 AL AV - 160 - 85
100.0 m/s before crossing the finish = l‘{g
ine. How much fime elapses during ‘
the rune

- 10. A racecar accelerates from rest at [ jp, A - 2 - - 'Y
7.5 m/s2 for 4.5 5. How fast will it be BV zask = 5x4.S 23338 ms

going at the end of that time? Becouws e ivis Leomn rest
feral \/e,\oc.t'L\a: 25 . 1S nms.
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. An  object is

A jet plane traveling at 88 m/s lands
on a runway and comes to rest in
ils, Caleulate  its average
acceleration.

A car traveling at 14 m/s encounters
a paich of ice and fakes 5.0 s to
stop.  What is the car's average
acceleration?

A train traveling at 25 m/s slows

down with a constant acceleration

of ~0.60 m/s2. How long does it take
the train fo stop?

A motorist traveling at 250 m/s
applies her brakes and comes to rest
in 20.0 5. What was the motorist's
acceleration?

A car accelerates at a rate of
2.50m/s2 for 60.0 5. What is the
change in velocity of the car?

A car takes 15.0 s fo come to g stop,
If the car was traveling at 30.0 m/s

initially, what  was  the car's
acceleration?
- A motorcycle accelerates  from

+5.0m/s fo +3.0 m/s in 0.25 . What
was the acceleration of the
motorcycle?

An object accelerates at a rate of
1.00 m/s2 for 27.0 s. What was the
object’s change in velocity?

accelerated  from
20m/s to 120 m/s in 2.50 5. What
was the acceleration of the objecte

A ball accelerates down an inciine
at 1.4 m/s2. if the ball took 5.0 s to
roll down the incling, by how much
did its velocity increase 2

1. 0P BV 088 - —88 = ~Bme2
\

Db ¥

i

2.87AV 2 0=l = ¥ = =2, @ mist

At 5 5
5. AL= AV - 0-25 .25 _4l.its
& 0.6 —0: b
.52V 095 = 25 = -1.25 52
N3 A0 20

19 AV = BAL = 2,5%60= 150 mis

lb. &=A0 = 0-30 =30 =-2mys?

| A T ls”

|

*.azat = 2-5 -4 - T Bm{s®
At 0.25 .A5

18. AT =GAL = I»27F= ZHm/s

'lcl., (j\:é$' = 12:_2_ ':FLQ = L{-mls‘l
At ‘6 :5

0. AG - aatb = Luxs = Tmis




